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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

76- The topic suggested by the teacher was --------- one that attracted us all.

1) interesting 2) interested 3) an interesting 4) an interested
77- 1 was surprised that he looked ----------- good after his recent illness.

1) so 2) as 3) such 4) enough
78- A: Tom didn't come to the party.

B: He ------------ the message.

1) may not receive 2) should not receive

3) should not have received 4) may not have received
79- They were sad because they had lost all the games in the ---------- .

1) comparison 2) competition 3) involvement 4) procedure
80- My parents will ----------- my mail to China while I am working there.

1) stick 2) forward 3) compose 4) mention
81- Her work performance didn’t come up to her employer’s ---------- .

1) features 2) amounts 3) situations 4) expectations
82- I believe children must be ---------- in road safety.

1) instructed 2) evaluated 3) predicted 4) prevented
83- No one had been forced to help; they were all there on a/an --------- basis.

1) aware 2) ordinary 3) voluntary 4) precious
84- With the help of technology, skiing is no longer ---------- a winter game.

1) briefly 2) directly 3) primarily 4) seriously
85- Whatl eat for breakfast ----------- a piece of bread and a little bit of cheese only.

1) makes up 2) insists on 3) consists of 4) keeps up with

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

This article is divided into two sections, the first of which deals with gas as a state of

(86) --------- and the second with gas as a fuel. Petrol is also frequently (87) ------- to as "gas",
(88) -—--mmmme- in North America. Many of the gases (89) --------- in this article have
90) —---——--- articles of their own.

86- 1) pressure 2) volume 3) force 4) matter

87- 1) referred 2) arranged 3) described 4) observed

88- 1) artificially 2) especially 3) interchangeably 4) carefully

89- 1) mention 2) are mentioning 3) are mentioned 4) mentioned

90- 1) separate 2) private 3) ancient 4) straight
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer
sheet.

PASSAGE 1:

The first time I came to the Herault, after a ten-hour train ride from Paris to Montpellier, I caught
a bus to the old village where my friend Sarah had bought a house. When I got there an hour and a
half later, despite the fact that I'd been riding on a modern bus, I had the sense that I'd moved back
700 years.

Sarah's house is made of stone, a few hundred years old, typical of the kind of place for sale
cheaply here. Like actually all the village houses it's attached to the neighbouring ones — so
although the village is small it feels heavily populated, everybody living close together, always
somebody leaning out of the window or sitting in front of the door. Inside, it is dark and cool. When
Sarah bought the house, it had cold running water, some missing floors, and the fireplace didn't
work.

How long did it take the writer to get to the place where her friend's house was?

1) Ten hours 2) Longer than a day

3) One and a half hours 4) Eleven and a half hours

All of the following are true about Sarah's house EXCEPT that it was --------- .

1) made of stone 2) built over 700 years ago

3) connected to other houses 4) located in a crowded village

It can be understood from the passage that people living in the village ---------- .

1) didn't seem to know Sarah 2) offered their houses for sale at a low price

3) were probably friendly towards each other 4) went into their house when the writer arrived
It can be understood from the passage that when Sarah bought her house it was --------- .
1) good enough to live in 2) required some repairs

3) in the same condition as the other houses  4) older than the other houses in the village
Which of the following questions does the passage answer?

1) Did anyone help Sarah to fix her house?

2) How did the author happen to know Sarah?

3) Why did the author travel 700 years back in time?

4) Did the author walk from Montpellier to her friend's house?

PASSAGE 2:

Exercises that require total body involvement improve and maintain fitness most effectively —
for example, jogging, running, swimming, cycling, and fast walking. Organized games and sports
that have long rest periods within the play design have only a little influence on fitness. Programs
especially planned to help individuals become fit are offered in different places: schools and gyms,
private clubs and studios, and special, professionally organized clinics that pay attention to people
with problems related to the heart or lungs. The individual must be careful in choosing an exercise
program and should make sure it is staffed by experts in physical education or medicine.

Normal, healthy individuals may plan their own exercise programs. The general rule is to
exercise only until you feel very tired—that is, until breathing becomes labored, circulation seems
not enough, or tiredness influences performance. People with health problems caused by heart
attacks, strokes, and illness should see a doctor before choosing an exercise program.
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According to the information in the passage, if you participate in a sport that makes you have

long rest periods, you ----------- .

1) cannot expect your fitness to improve much

2) should do your best to avoid total body involvement

3) need to exercise in different places in order to improve your fitness

4) had better do running, fast walking etc. during the rest period to keep your body warm and fit

According to the passage, if you have a heart problem, you are advised to --------- .

1) exercise in places that design activities clinically appropriate for you

2) play organized games so that others can take care of you if you face any trouble

3) often see a doctor to measure the amount of the progress you have made in fitness

4) engage in activities that require total body involvement so that all the pressure would not be
on your heart

It can be said that paragraph 1 is mainly written to ------- .

1) advise 2) correct a wrong idea

3) mention the benefits of games 4) compare daily exercise with organized sports
The word "labored" in paragraph 2 is closest in meaning to ---------- .

1) deep 2) difficult 3) dangerous 4) regular

The general rule given in paragraph 2 is for those who --------- .

1) need to see a doctor 2) exercise professionally

3) have no health problems 4) cannot plan their own exercise programs
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